Equivalent Resistance Challenge !!! R,=450

Solve for R, W |

W

R=20Q Rg=20Q Rp=2400Q

W -

Re=150 Q Ry=

W

R=20Q R=65Q R=650

W

R.=200 0

Ry= 400 Q Rpr00
Ry=400 Q g % N~ Ro=90Q % g % Rg=90Q




STEP 1:

Series

Rage = Ry + Rg + R
Rpape =45 +15 + 20
Rage = 80 Q

W

R=20Q Rg=20Q Rp=2400Q

W W

Re= 150 Q Ry= 150 Q

W

R=20Q R=65Q R=650

W

R.=200 0

% Ry= 400 Q
Ro=90 Q

Rp

=

90 Q

% Ry=90 0




STEP 2:

PARALLEL

1/Rpgcp = 1/Rpgc + 1/Rpgc
1/Ryy0s = 1/80 + 1/240
Rppep = 60 Q)




STEP 3:

SERIES

Rar = Rapeo + Re + Ry
R, . = 60 + 20 + 20

R, =100 O

Re= 20 5=600
Re= 150 Q Ry= 150 Q
R=20Q R=65Q R=650Q

PO Q

g Rg=90 Q




STEP 4:

SERIES

Rey = Rg + Ry
Rey = 150 + 150
Rey =300 Q

Re= 15 Ry= 150 O
R=20Q R=65Q R
R,=200 Q
R,=190 Q
Ry= 400 Qg % Ry= 400 Q Ry=90 0

% %waoo




STEP 5:

SERIES

Rk =R, + R, + Ry
Ry« =20+65+65
Rk =150 Q)

W

Rey= 300 Q

W—W—W

R=20Q R=65Q R=650

R,,= 400 Q% % Ry= 400 Q

W

R.= 200 Q

R,=00 Q
R,=90 Q _5_\“; gRQ=9oo
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R, =40 Q

STEP 6:

PARALLEL

RaL = 1/Ry -+ 1/Rg + 1/R, + 1/R,
R, = 1/100 +1/300 + 1/150 + 1/200

R = (6+2+4+3)/600

90 Q

§ R=900Q




STEP 7:

PARALLEL

1/Ry = 1/Ry, + 1/Ry i
1/R,,y = 1/400 + 1/400
Ry = 200 O

Rp= 90 Q
RM=4OOQ§ éRN=4OOQ Ro= 90 O § %ngo()

1|



STEP 8:

PARALLEL

1/Ropq = 1/Rg + 1/Rp + 1/R,
1/Ropq =1/90 +1/90 + 1/90
Ropg = 30 0O

Ryn= 200 Q %




STEP 9:

SERIES

Rr=1/Rp + 1/Ryn + 1/Ropq
R = 40 + 200 + 30

R, =270 0

Ry= 200 Q é

Ry =400

% Ropq= 30 O




